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1. 6=30 R~
Dzlcm’d—g 1=05-2iHF TH:100%
<% I 2 3 4 5 6 7 8 9 10
AUEdERaE | 0 0 0 0 0 0 0 0 0 0
7 i i 1009 | 1009% | 1009% | 1009 | 1009 | 1009 | 100% | 100% | 100% | 100%
D=2em-d=-=2=1>24§F L4:099. 2%
<% I 2 3 4 5 6 7 8 9 10
A% dEmik | 1 0 0 0 0 0 0 0 0 1
7 i i 3 969% | 1009 | 1009% | 1009 | 1009 | 100% | 1009 | 100% | 100% | 96%
D=3cm>d=7=2=15>3 &% T35:98. 4%
<% I 2 3 4 5 6 7 8 9 10
A% 5B | 0 0 0 0 1 0 0 9 0 1
7 i i 1009 | 1009 | 1009% | 1009% | 969 | 1009 | 100% | 92% | 100% | 96%
Ddem-d=-=2=2>20F Ti:88%
<% I 2 3 4 5 6 7 8 9 10
A% ER#k | 2 3 3 3 4 3 9 3 9 5
Rl 929 | 88% | 88% | 88% | 84% | 889% | 92% | 88% | 92% | 80%
D=bem-d=-=2=25>3 &5 L5:72. 8%
<% I 2 3 4 5 6 7 8 9 10
A% BB | 12 10 6 10 7 3 3 10 4 3
7 i i 529 | 609% | 769% | 60% | 729% | 88% | 88% | 60% | 84% | 88%
D=6cm’d5%=g=3 » AMEE T 62.4%
<% I 2 3 4 5 6 7 8 9 10
AEdERpl | 4 12 4 10 11 9 13 13 5 13
7 i i 849 | 529% | 849% | 60% | 569% | 649% | 48% | 48% | 80% | 48%




<% I 2 3 4 5 6 7 8 9 10
HAEd Bl | 12 9 16 17 15 18 5 9 16 12
7 i i 529 | 649% | 369% | 329% | 409% | 28% | 80% | 64% | 36% | 52%
D=8em-d=-=2=4>20EF T:40%
<% I 2 3 4 5 6 7 8 9 10
AU dEma | 16 14 18 15 19 12 12 14 14 16
7 i i 369% | 449% | 289% | 40% | 249% | 529% | 529% | 449% | 44% | 36%
D=9cm-d=-=2=45> 3@ EF T:37. 2%
<% I 2 3 4 5 6 7 8 9 10
A% BB | 13 17 18 19 16 13 13 14 15 19
7 i i 489 | 329 | 289% | 249% | 369% | 489% | 489% | 449% | 40% | 24%
D=10cm dz§=§=5 » AMES T35:34.4%
<% I 2 3 4 5 6 7 8 9 10
A% EB# | 15 922 20 15 16 15 12 19 15 15
Rl 409 | 129% | 209% | 409% | 369% | 409% | 529% | 249% | 40% | 40%
D=llem>d=2===55> 2% L:23. 6%
<% I 2 3 4 5 6 7 8 9 10
A% BB | 22 18 19 20 20 17 13 20 923 19
7 i i 129 | 289% | 249% | 20% | 209% | 32% | 48% | 20% | 8% | 24%
D=12cm>d=-===6>3i % T¥:]2 8%
<% I 2 3 4 5 6 7 8 9 10
AOEGE R Bl | 22 22 19 23 23 20 24 20 922 23
7 i i 129 | 129 | 24% | 8% | 8% | 20% | 4% | 209% | 129% | 8%
D=13cm dz§=§=6.5 , AHES T3 10.4%
TH | 2 3 4 5 6 7 8 9 10
A BBl | 24 21 22 23 23 24 20 23 20 24
F i i 49 | 169% | 12% | 8% | 8% | 4% | 20% | 8% | 20% | 4%




D=ldem > d=2=T=7>3 &5 T4:9. 2%
TH | ] 2 3 4 5 6 7 8 9 10
ARG Bl | 23 21 23 | 23 | 24 21 22 25 22 23
ERIRLE 89 | 169% | 8% | 8% | 4% | 16% | 12% | 0% | 12% | 8%
2. =45 R
Dzlcm’d—g %=0.5’2s£5£§5% T35:100%
<% I 2 3 4 5 6 7 8 9 10
AEEERaE | 0 0 0 0 0 0 0 0 0 0
7 i i 3 1009 | 1009% | 1009% | 1009 | 1009 | 1009 | 100% | 100% | 100% | 100%
D=2cm>d=7=2=1>24% T:097. 6%
<% I 2 3 4 5 6 7 8 9 10
A% EREk | 1 0 1 0 1 0 0 1 1 1
7 i i 969% | 1009% | 96% | 1009% | 969 | 100% | 100% | 96% | 96% | 96%
D=3cm>d=2=2=15>3 &% T35:91]. 2%
<% I 2 3 4 5 6 7 8 9 10
A% ER#Ek | 3 1 3 1 3 5 1 9 1 2
Rl 889% | 969% | 889% | 96% | 88% | 80% | 96% | 92% | 96% | 92%
D=dem>d=7=2=2>2 4% T:86. 8%
<% I 2 3 4 5 6 7 8 9 10
A% EhE | 4 5 5 7 9 4 9 9 1 1
7 i i 849% | 809% | 809% | 729% | 929 | 849% | 929% | 929% | 96% | 96%
D=bom> d=2=2=25 A% Li5:82 8%
<% I 2 3 4 5 6 7 8 9 10
A dERE | 3 4 7 3 2 5 6 3 5 5
7 i i 889 | 849% | 729% | 88% | 929% | 80% | 76% | 88% | 80% | 80%




<% I 2 3 4 5 6 7 8 9 10
A% aEmi | 7T 10 6 7 6 7 5 6 1 8
F i i 3 729% | 60% | 76% | 72% | 76% | 72% | 80% | 76% | 96% | 68%
D-Tem>d=2=2=35 3% T1:62.4%
<% I 2 3 4 5 6 7 8 9 10
AR | T 3 10 14 11 15 7 12 5 10
7 i i 3 729 | 889% | 609% | 449% | 56% | 40% | 72% | 52% | 80% | 609%
D=8cm-d=-=2=4>20EF T:50%
<% I 2 3 4 5 6 7 8 9 10
A% BB | 13 13 13 13 9 17 12 5 14 16
7 i i 489 | 48% | 489 | 48% | 649% | 32% | 52% | 809% | 44% | 36%
D=9cm * dz§=§=4.5 » S T 289%
<% I 2 3 4 5 6 7 8 9 10
A% BB | 20 19 19 20 19 16 18 18 15 16
Rl 209 | 249% | 249% | 20% | 249% | 36% | 28% | 28% | 40% | 36%
Dzlocm,dz§=§=5’zsis§: T35:20.8%
<% I 2 3 4 5 6 7 8 9 10
A% EBH | 19 18 20 17 23 921 19 18 21 22
7 i i 249% | 289% | 209% | 329% | 8% | 16% | 249% | 28% | 16% | 12%
D=11cm’dE%=%=55’%%€;@§,< Tia: 9, 29%
<% I 2 3 4 5 6 7 8 9 10
AEd Rl | 20 23 23 21 21 22 25 24 25 23
7 i i 209 | 8% | 8% | 16% | 16% | 12% | 0% | 4% | 0% | 8%
D=12cm dz§=§=6’ 2B T 6.4%
TH | 2 3 4 5 6 7 8 9 10
AU E Rl | 25 25 24 23 25 24 20 24 21 23
F i i 0% | 09% | 4% | 8% | 0% | 4% | 209% | 4% | 16% | 8%




D:130m’d—§ — =65 2Ly T5:3.6%
. I 9 3 4 5 6 7 8 9 10
A% BB | 25 23 25 23 24 23 25 23 25 25
* i i 0% | 8% | 0% | 8% | 4% | 8% | 0% | 8% | 0% | 0%
D=ldem>d=2=2"=7>3 &5 Zs5:2. 8%
. I 9 3 4 5 6 7 8 9 10
A% BB | 23 25 23 25 23 25 24 25 25 25
* i i 8% | 0% | 8% | 0% | 8% | 0% | 4% | 0% | 0% | 0%
3. =608
D=1cm’dE%=%=0.5 s AEEE T 100%
. I 9 3 4 5 6 7 8 9 10
AdEmE | 0 0 0 0 0 0 0 0 0 0
* i i 1009 | 1009 | 1009 | 1009 | 1009% | 1009 | 100% | 100% | 100% | 100%
D=2cm’dE%=§=1 A ES T 98.4%
TH | 9 3 4 5 6 7 8 9 10
A%dEmE | 0 1 1 0 9 0 0 0 0 0
F il i 1009 | 96% | 969% | 1009 | 92% | 1009 | 100% | 1009 | 1009 | 100%
D=3cm>d=7=2=15>3 &% T39:96.4%
TH | 9 3 4 5 6 7 8 9 10
AWdEmE | 0 0 1 0 1 0 3 9 1 1
F il i % 1009 | 1009 | 969 | 1009 | 96% | 100% | 88% | 929% | 96% | 96%
D=dcm>d=2=2=2>2 4% T:87. 6%
TH | 9 3 4 5 6 7 8 9 10
A% dEBE | 5 3 3 4 5 9 5 1 9 1
F il i % 809 | 889% | 889% | 849% | 809% | 92% | 80% | 96% | 92% | 96%




<% I 2 3 4 5 6 7 8 9 10
A% dEmiEk | 6 9 6 10 5 3 3 3 6 6
ERIRLE 769% | 64% | 76% | 60% | 80% | 88% | 88% | 88% | 76% | 76%
D=Gem-d=-=2=3> 20+ T:68. 4%
S 2 3 4 5 6 7 8 9 10
AEaEml | 7 13 4 7 11 7 7 11 4 8
ERIRLE 729% | 48% | 84% | 72% | 56% | 72% | 72% | 56% | 84% | 68%
D=Tcm - dz§=§=3.5 S T 46.4%
<% I 2 3 4 5 6 7 8 9 10
A% ER#k | 14 18 16 10 13 11 14 7 18 13
7 i i 449 | 289% | 369% | 60% | 489% | 569% | 449% | 72% | 28% | 48%
D=8cm’d—%:—:4’%«3’@3 T 40.4%
<% I 2 3 4 5 6 7 8 9 10
A% ER#k | 14 16 16 17 15 16 16 14 9 16
Rl 449 | 36% | 369% | 329 | 40% | 369% | 369% | 449% | 64% | 36%
D=9cm d=§=§=4.5 » A ESF T3 28.8%
<% I 2 3 4 5 6 7 8 9 10
A% BB | 13 20 18 17 16 18 20 17 19 20
7 i i 489 | 209% | 289% | 329% | 369% | 289% | 209% | 329% | 24% | 20%
D=10cm’dzgz%=5’zﬁ3@:}, Tia: 2 29
<% I 2 3 4 5 6 7 8 9 10
AEd Rl | 20 21 20 16 21 22 19 18 16 22
7 i i 209% | 169% | 20% | 36% | 169% | 129% | 249% | 28% | 36% | 12%
D=llem>d=2=—=55> 2@ &% T:]2 4%
TH | 2 3 4 5 6 7 8 9 10
AU E Rl | 25 25 24 25 25 23 24 25 23 25
# il ¥ 0% | 09% | 4% | 0% | 0% | 8% | 4% | 0% | 8% | 0%




D:IZCm’dzg %:6"41@@;2 Ti:192.4%
. I 9 3 4 5 6 7 8 9 10
H%dEBHE | 25 25 25 924 25 25 25 25 24 25
F il i % 0% | 0% | 0% | 4% | 0% | 0% | 0% | 0% | 4% | 0%
D=13cm>d=7=2=65" A% T (0%
. I 9 3 4 5 6 7 8 9 10
H%dEmHE | 25 25 25 25 25 25 25 25 25 25
F il i % 0% | 0% | 0% | 0% | 0% | 0% | 0% | 0% | 0% | 0%
D=14cm’d52:%:7’7ma’3§j, Tia: 0%
. I 9 3 4 5 6 7 8 9 10
HE BBl | 25 25 25 25 25 25 25 25 25 25
F il i % 0% | 0% | 0% | 0% | 0% | 0% | 0% | 0% | 0% | 0%
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